Example: find u such that —Au =1 in 2 and u = 0 on 02

k%

int main (int arge, char** argv) {

environment rheolef (argc, argv);

Let QCRY, N =1,2,3

Xp={ve HY(Q); vk € P, VK € T}

Vi = X, N HY(Q)
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geo omega (argv[1]); :
space Xh (omega, argv[2]); |
Xh.block ("boundary"); :
trial u (Xh); test v (Xh); |
. ' = | VuVovdx
form a = integrate (dot(grad(u),grad(v)));i a(u, v) 0
field 1h = integrate (v); E I(v) = / vda
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field uh (Xh);
uh ["boundary"] = 0; (P) : find up € V3 such that

solver sa (a.uu()); a(un,vn) = 1(vy), Yon € Vi
uh.u = sa.solve (1h.u(Q));

dout < uh;



